EARAROBEEIERT — 2 N— IBISH —F

2016528 11H () 21E{£E3H

Gl -+ v X/s— 74 C2 ¥5%R4kE (xwlw | mEmml - v 5 o 8
[AE£] 1% :120,000  ~ 2% :28,000 ™  33#%&:11,000”  43%&:6,000H ~ 53%&:4,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i gLV ati—La o7 55%%;%: 1:(3_1).7 7-7-8-5 |39.4| — 5 | 452 EQE; (1£8)
RN=YI54 B:hLrvv -2 = BB
=y f 4 | BERM 1:31.7 9-9-7-3 [39.6| — 2 418 | BAREBE (£H)
2|5|5|F—F—T TN 54.0 (7E) @y | (B J P NEE
RN—=VIF4 B0yt~ R EA
- t 4 | HBEE 1:32.2 4-4-4-2 | 41.3| — 1 432 | BEBTTIE (ER)
3111|707/ 7%= g 56.0 (2 1/2) +2) ¥$EI .
R:F4—=TA2N7 N B:7U—LINT RUE D 5
4 YL TATY 4 5 glgqaﬂ 1(/%)2 1-1-1-1 [ 42.3| — 8 g&) EE;; (£8)
R:T7T217F13YF— B:IIV-— &% B
N o meE% . -10-9- — KiERK (B
5 YALT pR 4 4 ue 1.(332).8 10-10-9-7 | 40.3 6 :4112) ;éé‘%;u (1£8)
RTRIAYF—F BIIUFa—I HiE  EBL
=8 9 AT Z :33. —6-5— . = neEE (£8)
6 ol FaRy I 4 7 54.?) 1(333)4 8-6-5-6 | 41.9 7 (4+375) LEIE])JPﬁHEH
RR—ANFIXHLF— BiF1—AEN—Fz Nk sk
e it 6 | AR 1:33.9 3-3-2-4 | 43.6| — 3 481 | BIEX (ERB)
718110 WHF—1J2HX 54.0 (2 1/2) +3) HEAERS -
TINTFNT L2 B rAzRA-LIL =ARE4S
pisUNERS : 56— — HHEE (EE)
8 ol ATHL LY — it 4 L (17.3;% 5-5-6-9 | 42.2 9 zzg? st
gy BS54 L EFRBEKRS
NS o &K TER :34. -8-11- . — MRz (EE)
91811 FrTT YT 7 225.0 1(314)1 Ga-ti-t 413 B (5_%3; BAERE B
L:ZZXHwR B:A7€T T —T2 % e 4335
o o7 | RRAREK 1:34.5 2-2-3-8 | 44.1| — 4 482 |MRBE (£H)
10/7| 9| 7F# LA ET 56.0 ® s | (R J PN
LT RIA Y L—> BEAXTHLRb FUFLT7— L
s — N BEARTIE : -11-10- — ertnkt (1£8)
1lzlgl 73voLae o7 e 1.(314>.7 11-11-10-10{ 41.9 10 (4_973) i ®
LANRTNGR B:T4—=>TF4 b Eielllk=gribae]
® I —F—@EBIERL
13=7r= 4,9,10,1,2,11,3,6,5,7,8
2a=7r= 4,9,10,1,2,6,3,11,5,7,8
Jol=5r= 4,10,9,1,6,2,5,3,7,8,11
43—F— 4,1,5,10,3,6,7,9,2,8,11
[ N3
H OB 3 1,140 714K 3-5 600 % E 3-5 3,020 3EHE 1-3-5 1,160H
8 B 3 180F4 =8 520M B & Hg0 1,990/ K31 Bpball 16,480H
5 110 1-5 230M B H 3-5 5,000/
1 1004

ABICOVWTRDTEEERROODE. TR LIV,




